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ECONOMICS — GENERAL

Fourth Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Group - A

(Marks : 50)
Unit - 1

1. Answer any two questions : 5%2

(a)
(b)
()
(d)
(e)
®
(8
(h)

2. (a)
(b)
(c)

3. (a)
(b)

4. (a)
(b)

5. (a)

(b)

What is Net National Income (NNI)?

Mention any two characteristics of underdevelopment.

What is population explosion?

What is meant by Foreign Direct Investment (FDI)?

Mention any two reasons of gender inequality in less developed countries.
What is vicious cycle of poverty?

What is the role of technology in agriculture?

What is meant by capital formation?

Unit - 2
Answer any one question.

Distinguish between economic growth and economic development.
Is Per Capita Income (PCI) a suitable indicator of economic development? — Discuss.

Explain the concept of Human Development Index (HDI) in this context. 10+20+10

Discuss the complementary roles of agriculture and industry in economic development of a country.
Discuss the different types of gender inequality in a developing country. How does gender inequality
hinder economic development? 20+(8+12)
What are the favourable effects of population growth on economic development?

What are the effects of economic development on population growth? 20+20

Discuss the role of Foreign Direct Investment (FDI) in economic development.

Discuss the role and functions of International Monetary Fund (IMF) regarding economic
development of less developed countries. 20+(8+12)
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Group - B
(Marks : 50)
Unit - 1
(Marks : 25)
6. Answer any two questions : 5%2

(a) What is international trade?

(b) What are gains from International trade?

(c) Mention any two basic assumptions of Ricardian model of trade.

(d) Define Current Account.

(e) What is Capital Account?

() Give two examples of role of trade in international economic development.
(g) What is free trade?

(h) What is quota?

7. Answer any one question :

(a) What is Balance of Trade? Distinguish between Balance of Trade and Balance of Payments. What
are the components of Balance of Payments? 14242

(b) What is “tariff’? Briefly explain the concept of ‘Comparative Cost’ as used for explanation of the
basis of international trade. 242
8. Answer any one question :

(a) Discuss, in detail, the economic costs of imposition of tariff. Explain the meaning of gains from

trade in Ricardian model. (Explain graphically) 6+4
(b) (i) Discuss, in detail, the advantages of free trade.
(i) Explain the difference between tariff and quota. 5+5
Unit - 2
(Marks : 25)
9. Answer any two questions : 5%2

(a) What is Lorenz curve?

(b) Mention two uses of Lorenz curve.

(c) Define dispersion.

(d) Mention two desirable properties of a good measure of dispersion.

(e) Define Arithmetic mean.
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10.

11.

(f) Define standard deviation.
(g) Distinguish between attribute and variable.

(h) What is relative frequency?

Answer any one question :
(a) Draw the two ogives for the following frequency distribution :

Class-limit 51 - 60 61 — 70 71 — 80 81 — 90
Frequency 5 7 12 6

(b) Distinguish between primary data and secondary data.

Answer any one question :
(a) Distinguish between population and sample. What are the advantages of sample survey?
(b) Find the Arithmetic Mean and Standard Deviation for the following frequency distribution

Class-limit 31 -40 41 - 50 51 - 60 61 — 170
Frequency 2 4 10 4

5x1

5+5
5+5



